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Question Id : 9209067184 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & YR IR Uyl & IR difore

ffie, &or 2R H I9! Y81 Sl -
TEH! g3 TR0 81 3141 $9 a1 uga,
e 89 & A9 4 77 of A

3R 31 ¥ &1 diefi 1 g8 Ueie
1 offel & gua o@ @S 1d §,
7 A1e IR ues, ggd! ol 8|
ded 3! 8T a@dn 4R 4R

s gl & @g W T gnfEal
g W T T s HEHdl 9<id
dcl bl TS g @1, 3T § a8l
3R TERT AP &S H <2l BT

B U A B W B

H afarep ¥ 1 49 HY dedl o

Sub questions

Question Number : 1 Question Id : 9209067185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 frae div 9 97

(1) SMMHE 2) UHF
(3) dF 4) HI &
Options :

92090628401. 1
92090628402. 2
92090628403. 3
92090628404. 4

Question Number : 2 Question Id : 9209067186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

H 39! &e db @dl g

(1) AR 2) AW
(3) &UIWR @) TaMH
Options :

92090628405. 1
92090628406. 2
92090628407. 3
92090628408. 4

Question Number : 3 Question Id : 9209067187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I B yded 7d 9 el 87

(1) &S Ol (2) BIe e
(3) & ae (4) Hewre ardf
Options :

92090628409. 1
92090628410. 2
92090628411. 3
92090628412. 4

Question Number : 4 Question Id : 9209067188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE $U IR yed dgdl ol 67

(1) WIW 2) ARW
3 TWW 4) IRW
Options :

92090628413. 1
92090628414. 2
92090628415. 3
92090628416. 4



Question Number : 5 Question Id : 9209067189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSl 9 vl I dg 1 Mt 82

(1) HUsgdai | (2) HATA
(3) SFARFG Ui | 4) BT |
Options :

92090628417. 1
92090628418. 2
92090628419. 3
92090628420. 4

Question Id : 9209067184 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

e & YR W sl & Ir difore

ffeie, eor R & Gp! YT Sl -
TEH1 43 IR0 81 34141 $9 fa ued,
a1 & AT 4 A7 o

3R I & 91 Nedf BT g uered
o offdl & v s wdt d 9,
= ¢ TR Ued, 9gdl ot ¢

ded 3! 81 S@dn 4R dR
AT Ol § e W) T nfsal
g R T T FE HEHel 941d

9d &el TS g @1, S dgd
3R UERT &R TS 1 el Bl
WW W T Fe FW B

# 3fdTep T8 71 49 $ TEdl 8

Sub questions

Question Number : 1 Question Id : 9209067185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A4 fras dia 91 97

(1) WS 2) UHE
(3) TNF @4) HR &
Options :

92090628401. 1
92090628402. 2
92090628403. 3
92090628404. 4

Question Number : 2 Question Id : 9209067186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

# 3! e ab @dl IEI?

(1 AR 2) IdWR
(3) &UIWR @) YdH
Options :

92090628405. 1
92090628406. 2
92090628407. 3
92090628408. 4

Question Number : 3 Question Id : 9209067187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y e &1 gee 7d 9 el 87

(1) & uref (2) Ble gl
(3) & Ui (4) Head gref
Options :

92090628409. 1
92090628410. 2
92090628411. 3
92090628412. 4



Question Number : 4 Question Id : 9209067188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2 FY W UeH dadl odl 82

(1) WIWR 2) ARW
3) W 4) I W
Options :

92090628413. 1
92090628414. 2
92090628415. 3
92090628416. 4

Question Number : 5 Question Id : 9209067189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol 9 Ui & dg W TR 2

(1) Sffs i | (2) FATAY
(3) SARAd i | 4) BIUAi g
Options :

92090628417. 1
92090628418. 2
92090628419. 3
92090628420. 4

Sub-Section Number : 2
Sub-Section Id : 920906229
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BY WY T 21 T2

(1) g g3 (2) HEHW F51d
3) UYdg<d 4) JHBIA <1
Options :

92090628421. 1
92090628422. 2
92090628423. 3
92090628424. 4

Question Number : 6 Question Id : 9209067190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B HY 91 1 TR

(1) 9%he d=<id (2) AEHd g<id
3) UYdg<Q 4) JHBIA F<I1d
Options :

92090628421. 1
92090628422. 2
92090628423. 3
92090628424. 4

Question Number : 7 Question Id : 9209067191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

14 fau 7 fasedi # 9 el SR &1 994 Sifou
(1) SadA3RB

2) HEAC3HRD

(3) FAADSMRE
(4) &dd B3R D

m

Options :

92090628425. 1
92090628426. 2
92090628427. 3
92090628428. 4

Question Number : 7 Question Id : 9209067191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

2 fau v fasedi 9 9l IR &1 994 Hiforg
(1) HadARB

2) HEAC3HRD

(3) HAADSIRE
(4) &dd B3R D

m

Options :

92090628425. 1
92090628426. 2
92090628427. 3
92090628428. 4

Question Number : 8 Question Id : 9209067192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A.  dgl 3] A HINE B

B. 8l 3% AN HIGE |

C. g8l 3Hd al Ai9g 3|

D. gl @I 3FHT HIE g

=i fou U fashedl # 9 Tl IR &1 99 Hifele -

A
@ B
@ C
4 D

Options :



92090628429. 1
92090628430. 2
92090628431. 3
92090628432. 4

Question Number : 8 Question Id : 9209067192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A. Tgl S A AN g

B. &l 3% Ar HIGE |

C. dgl 3fHd ali Ai9g 3|

D. gl a 3F®I ANE g

A9 fou U fasked # 9 Wl IR &1 9 HIfeL -

B A
(2) B
-
4 D
Options :

92090628429. 1
92090628430. 2
92090628431. 3
92090628432. 4

Question Number : 9 Question Id : 9209067193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(l), (B)-(1V), (©O-(l), (D)-(1)
(2) (A=), (B)-(11), (C)-(11), (D)-(1)
(3)  (A)-(), (B)-(IN, (C)-(n), (D)-(IV)
(4)  (A)-(l), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090628433. 1
92090628434. 2
92090628435. 3
92090628436. 4

Question Number : 9 Question Id : 9209067193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(n), (B)-(1v), (-, (D)-(1)
(2)  (A)-(V), (B)-(), (C)-(I1), (D)-(I)
(3)  (A)-(). (B)-(1), (©)-(l), (D)-(IV)
4)  (A)-(), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090628433. 1
92090628434. 2
92090628435. 3
92090628436. 4

Question Number : 10 Question Id : 9209067194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR B ASYSY Ped o dred | fagmu g

(1) =g (2) wegey
3) @ @ B
Options :

92090628437. 1
92090628438. 2
92090628439. 3
92090628440. 4

Question Number : 10 Question Id : 9209067194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ! ASYSY Ped o dred | fagmu g

(1) o (2) WEYsY
3) 4 B
Options :

92090628437. 1
92090628438. 2
92090628439. 3
92090628440. 4

Question Number : 11 Question Id : 9209067195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR sarel 91 fAaw @t g feedft fd W 15% arftfe sore @t v @ 3 avf A 7 10,350 =
e 81 e @1 18 iR Jra i)

(1) T 22,800 (2) ¥ 23,000
(3) T 24,000 (4) T 24,500
Options :

92090628441. 1
92090628442. 2
92090628443. 3
92090628444. 4

Question Number : 11 Question Id : 9209067195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &6 W 3w &t 73 et afy ov 15% aiftie soe @t e 3 W A 7 10,350 =AW
3fran g1 e &1 18 af gra Fifsn

(1) T 22,800 (2) 23,000
(3) T 24,000 (4) ¥ 24,500
Options :

92090628441. 1
92090628442. 2
92090628443. 3
92090628444. 4



Question Number : 12 Question Id : 9209067196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm T3 9161 4T 1 U 319 71141, 80 cm T dTd U §aT6R U H STar 741 gfe o
iR &9 Y U F 4RT 8 aUT SHH STl 41 Ml I o¥e S6 71 8, ol ofd-%R a1 Sl
HRICIE

(1) 25 cm (2) 22.5cm
(3) 22 cm 4 21.8cm
Options :

92090628445. 1
92090628446. 2
92090628447. 3
92090628448. 4

Question Number : 12 Question Id : 9209067196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm g1 91aT YTd &1 UH 319 7dl, 80 cm o4 dIdl Udh deHIbR UE | STar 71411 afd uF
HifRI® T I T 8 W 8 a1 9 STal 1 7ial Ol a8 §d 741 €, ol Sd-%R fdha-T Gl
EIRISIF

(1) 25 cm (2) 225cm
(3) 22 cm 4 21.8cm
Options :

92090628445. 1
92090628446. 2
92090628447. 3
92090628448. 4

Question Number : 13 Question Id : 9209067197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL A T 42,000 Y b U AUR AR fHa1| 31 AgH 1€ 2 35,000 HT I b
1 39S 1Y TS TS| 9 HElHT & ofd T Fd @I 31,570 YT & H {1 ST 4R 2 ) &

(1) 12,400 (2) 12,628
3) 12,825 4) 12,980



Options :

92090628449. 1
92090628450. 2
92090628451. 3
92090628452. 4

Question Number : 13 Question Id : 9209067197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A 2 42,000 W HXb UH AR R™ fba11 &1 | 918 2 35,000 BT I Hb
31 39S 1Y TS TS| SH HEHI & o T Fd A 231,570 YT AH H 1 H1HAT R ) &

(1 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090628449. 1
92090628450. 2
92090628451. 3
92090628452. 4

Question Number : 14 Question Id : 9209067198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

107 +7° +243 = x* +5 H x &I HF FId Bifolw

(1) 21 2y 22
(3) 23 (4) 24
Options :

92090628453. 1
92090628454. 2
92090628455. 3
92090628456. 4

Question Number : 14 Question Id : 9209067198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



102 +7° +243 = x> +5 H x B HAM FId Hifelw

(y 2 (2) 22
(3) 23 4) 24
Options :

92090628453. 1
92090628454. 2
92090628455. 3
92090628456. 4

Question Number : 15 Question Id : 9209067199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF wfad Ufdfed 9 He IR & gY 70 & # 1200 km 1 g 99 Tl ¢ 1 TS a8 ufafeA
10 ©¢ 3R &Y YT 39 Ugd dreil 7id 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
&= & T s

(1 39 (2) 33
3 35 (4) 37
Options :

92090628457. 1
92090628458. 2
92090628459. 3
92090628460. 4

Question Number : 15 Question Id : 9209067199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF fad Ulafed 9 €2 iR @Rd gY 70 &7 # 1200 km &1 g 99 FXal €1 A g ufafeA
10 ©¢ 3R HY YT 39 Ugd diei 7fd 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
fea 7 ag sy

(1) 39 (2) 33
3y 35 4y 37

Options :



92090628457. 1
92090628458. 2
92090628459. 3
92090628460. 4

Question Number : 16 Question Id : 9209067200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud Hg GOY $I 3R FIRT A gU AT A Sl TUS1 Thaldl Wis B0 G & foar &1 far g1
39 goN &1 3 A 1 frgan g2

(1) <al @) foa
(3) aidd (4) weI-gA-l
Options :

92090628461. 1
92090628462. 2
92090628463. 3
92090628464. 4

Question Number : 16 Question Id : 9209067200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF Hg GO $1 3R IIRT HXd g0 AT A FHeT 39H1 Uhalal 1S B8 Tt & foar w1 A 21
39 7oy &1 33 I F1 fegar &2

(1) <al @) foa
(3) sidd (4) weR-g4-al
Options :

92090628461. 1
92090628462. 2
92090628463. 3
92090628464. 4

Question Number : 17 Question Id : 9209067201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

= o |o o
o 4] =]
=] o | L)
[+ ]
o
o 4]
(2 () 4
(3) 5 4 6
Options :

92090628465. 1
92090628466. 2
92090628467. 3
92090628468. 4

Question Number : 17 Question Id : 9209067201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

(n 2 2) 4
3} 5 4 6

Options :

92090628465. 1
92090628466. 2
92090628467. 3
92090628468. 4

Question Number : 18 Question Id : 9209067202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

337 g & fere Ol fasey &1 9g- & -

A70:349::478:7

(1 470 (2) 487

(3) 471 4) 474
Options :

92090628469. 1
92090628470. 2
92090628471. 3
92090628472. 4



Question Number : 18 Question Id : 9209067202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3131 ug & fore uel faweq &1 907 &Y -
470:349::478:7

(1) 470 (2) 487
(3) 471 (4) 474
Options :

92090628469. 1
92090628470. 2
92090628471. 3
92090628472. 4

Question Number : 19 Question Id : 9209067203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF BT Y Ud YaURN SRT Fgifdsd usi &1 3w d |

Y gg die-d ¢ [ o= & ¥pa 1 5 a4 &1 31g T US|
UdYRON  |: 39 g H = A & Iugdd WR W Ugd 9% gidl & 3R e & fau
GRIEESGIN

Il: 694 $I Y F 918 T =1 &1 GG ] Bl

(1)  Paa gdyron | iR 8

(2) Paa qdyron | 1 siafifed 8

(3) GHIAYHSTH T Hafiied s
(4) AdARAE I AR 8

Options :

92090628473. 1
92090628474. 2
92090628475. 3
92090628476. 4

Question Number : 19 Question Id : 9209067203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY D1 U Ud YR SURT FHgifdrd welf &1 3w &d |

U gg 9ie-1 ¢ [ 9= &1 Wpa 1 5 94 31 oy T U1 9|
TdYROT  |: 39 oMY H g1 AP & Iuged wWR W Ugd @ aidl ¢ iR drEd & fae
JOR Bl B

Il: 694 P HG F dI8 Tod =1 B Gl gl Bl

(1)  &ad gduron | sidfifed g

(2) Pad gduron | 11 fafifed g

3) CFIHAPETH O faHRdE
4) AdiSRAE I iaFfea e

Options :

92090628473. 1
92090628474. 2
92090628475. 3
92090628476. 4

Question Number : 20 Question Id : 9209067204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfdar 10 faardier IR @ 3R, 981 ¥ 6 faidier fém #t ok, aaynd 98 3 ol e
@1 3R Fad! g1 3 R fawg & deuf o ag fara-it gt wr aiR favw femm @2

() 10 & Iuv ufam ) 6 o gfémr afgm
3) 5 fos.. férmr afsm @ sfEd Tm@Re
Options :

92090628477. 1
92090628478. 2
92090628479. 3
92090628480. 4

Question Number : 20 Question Id : 9209067204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fadr 10 feetiey I &t 3R, 981 U 6 fdhaiiex glém &t ok, aayrq 9g 3 feandley e
&I AR Fardhl g1 30 SRS fawg & Hay # a8 fFa-it gt wr ik forw feam & @2

() 10 f& e Iuv ufam ) 6 & afém afgm
3) 5 fos.af. gfémr afsm @ sfFHImEe
Options :

92090628477. 1
92090628478. 2
92090628479. 3
92090628480. 4

Question Number : 21 Question Id : 9209067205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y gl 1 @1 T Sl

- gt -
(Aa) Sfiefeay () TR U
(B) SMISICIUG] () vl & Heifera sfrefe wma
(€) Sffdfedear (Y @fEan &1 st
(D) SHiFeaTars (V) &d &1 g SR fagH
e fau U fasedi § | 9El IR &1 99 BT
(1) (A)-(), (B)-(1V), (O)-(1), (D)-(II)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(III)
(4) (A1), (B)-(IV), (C)-(l11), (D)-(1)
Options :

92090628481. 1
92090628482. 2
92090628483. 3
92090628484. 4

Question Number : 21 Question Id : 9209067205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & Ty gt 1 1 HeH Sifor:

gdl-| Tt i
(A) ST () FIEfd IS
(B) SiTSICIuIG! () ol | Heiftra sfrafe wma
(€) HaRUFHeER (SR (@FEN) o1 ST
(D) SHfEHTaren (IV) &d &1 g 3R fagm
419 fau U fadhedl © 9 9d IR &1 9G4 BT
(1) (A)-(), (B)-(IV), (C)-(1), (D)-(l1)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3) (A)-(IV), (B)-(l1), (C)-(1), (D)-(li1)
(4)  (A)-(I), (B)-(IV), (Q)-(ln), (D)-(1)

Options :

92090628481. 1
92090628482. 2
92090628483. 3
92090628484. 4

Question Number : 22 Question Id : 9209067206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& U gEgIPIa- Ud Ul St (LPG) & T U §?

(1)  &ad fAaga 2) s sda
(3) WIUA 3R &< (4) U 3R &geA
Options :

92090628485. 1
92090628486. 2
92090628487. 3
92090628488. 4

Question Number : 22 Question Id : 9209067206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®H U gIEgIPbIa- U Ul Sft (LPG) & T U &2

(1)  &ad fAgF (2) T iR 3dA
(3) I 3R A (4) W 3R =ged
Options :

92090628485. 1
92090628486. 2
92090628487. 3
92090628488. 4

Question Number : 23 Question Id : 9209067207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHECEE
A e ® ya &4 dran uyH Afdd tsdE g1Ee 8l
B. HgHI U HIHd HI WA dTal Uy e% 4 UuU
C.  3f=Ier ® Sarer UyH HRdY Jeh i
D. WYH Uar # Hire Sfikfaex # S aren yuw == 21
- few e fwedt & @ 9t S &1 99 Fifore

(1) &ad A3MRB

(2) ®ad A B3RC

(3) &ad B3HRD

(4) F9d BIHRC
Options :

92090628489. 1
92090628490. 2
92090628491. 3
92090628492. 4

Question Number : 23 Question Id : 9209067207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HU T -

A Sfdfe ® yaw HA drean uyH Afdd usdE ®1Ee 8l
B. dgHI TR HFd &I Yo aral UYH &% JUH.U

€. 3f=INer H SErer UYH HRdY I i

D. WuH Uard # Te Sfikfaex # o aren gyH S 21
A few e R § & 9t I &1 99 Fifon

(1) &ad A3fRB

(2) $dd A B3RC

(3) ad B3HRD

(4) ¥9d B3R C
Options :

92090628489. 1
92090628490. 2
92090628491. 3
92090628492. 4

Question Number : 24 Question Id : 9209067208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 91 d¢ J&Td: IMHd ey H fidels 391 82

(1) Tojdg (2) WHdg
(3) 3yddg 4) B
Options :

92090628493. 1
92090628494. 2
92090628495. 3
92090628496. 4

Question Number : 24 Question Id : 9209067208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 91 d¢ J&Td: AMHA ey H fidreis 3971 82

(1) T9jdg (2) WG
3) Suddg @) FIC
Options :

92090628493. 1
92090628494. 2
92090628495. 3
92090628496. 4

Question Number : 25 Question Id : 9209067209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R d sy Ru U §:
Y| ;. HRdE WaUE H UHd AMREedr &1 [d9r S dfaur § sifter G i gl

U Il :  HRAY AU & 3= 51 A & ded Jayd daor’ WiF & FfayE ¥ sifier
a1 B

IR HYA & 3fTdied H, i< AU 77U fabeul # § a8 Iuga I &1 99 Difelu

(1) YR IEH TR
(2) YA SR I ESH Ted @
(3) Y| TS B, Al YA 11 Ted &
(4) YA TTAd 8, Afchd HYF 11 96l §

Options :

92090628497. 1
92090628498. 2
92090628499. 3
92090628500. 4

Question Number : 25 Question Id : 9209067209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 gl FyA Rumu &
FYT| :  HRAW Ty § Ted Amiiear &1 foar fafew dfaum O sifter far m g

U wﬁgﬂmaﬂa@?ma%aﬁaqﬁ%aﬁm HiY & dfauH ¥ siiffeR
o icd

SRR HY & 3fdiew H, i< AU 77U fabel 7 I a8 Iuga Ju &1 99 Difele

(1) YR ISHA TEl 8
(2)  HYFI SR I ESH T @
(3) YA | Bl g, Al HY || TTad &
(4) ®YFITAd §, Afchd HYF 11 98l ©

Options :

92090628497. 1
92090628498. 2
92090628499. 3
92090628500. 4

Part B: MPT

Section Id : 920906144
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906230
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209067210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The immediate vascular response during acute inflammation is

1. progressive vasodilatation of arterioles

2. Transient Vasoconstriction of arterioles
3. Slowing of microcirculation
4. Leucocytic margination

Options :

92090628501. 1
92090628502. 2
92090628503. 3
92090628504. 4

Question Number : 26 Question Id : 9209067210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRge gy # g1 areft drapifere Hag-t-ufafear g1

(1) ynfee 1w ffesr ) yafASIe 1 gt dHivH
(3)  YEAUNEER BT i g @) Aaeiimred &1 miHEE
Options :

92090628501. 1
92090628502. 2
92090628503. 3
92090628504. 4

Question Number : 27 Question Id : 9209067211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about the ‘angle of torsion’ of humerus?

A. It is the angle formed between the longitudinal axis of the shaft of
thehumerus and the axis through humeral head.

B. Itis the angle formed between the axis through humeral head and an axis
through humeral condyles.

C. ltis an angle formed in the transverse plane.
D. ltis an angle formed in the frontal plane.
E. Normal range of angle of torsion is 130°-150°.
Choose the correct answer from the options given below :
1. Aonly
2. BandC only
3. AandE only
4.

E only

Options :

92090628505. 1
92090628506. 2
92090628507. 3
92090628508. 4

Question Number : 27 Question Id : 9209067211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIfTgehT & I & ST & Jaiy H 31 9t 82

A. uﬁﬁ%mmﬁaaﬂawﬁqfﬁaaﬁawahmﬁmsﬂﬁﬁmgqawﬁwﬁaﬁ
1 2

B. ugaﬂ;mﬁsaﬂnﬂﬁﬁmgqa&fmmﬁamaﬁm%gaﬁa e & i d
g1 2|

C. U &0 R dd H g g |

D. Tg & thed ad H Eai g

E. S 9HRI HHE 130° — 150° 8idl gl

13 feu o fawedt A 9 a8 Iugdd IR &1 904 Biforg ;

(1) &dd A

(2) &dd B3RC

(3) &ad ASMRE

4) &ddE
Options :

92090628505. 1
92090628506. 2
92090628507. 3
92090628508. 4

Question Number : 28 Question Id : 9209067212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A form of coordinated and internally programmed cell death which is of
significance in a variety of physiological and pathological conditions:

1. Apoptosis

2. Neurosis

3. Gangrene

4.  Autolysis
Options :

92090628509. 1
92090628510. 2
92090628511. 3
92090628512. 4



Question Number : 28 Question Id : 9209067212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T-afdd td offaRe ©u J gEiford SRS $1 U6 ISR ¢, o & fafim
sRfraneit vd fagsfadl & neaygi 81

(1) TP 2) Hdbey
(3) @Y @) WEaga
Options :

92090628509. 1
92090628510. 2
92090628511. 3
92090628512. 4

Question Number : 29 Question Id : 9209067213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sports/competition wheelchairs must have the following characteristics :
A. Wide wheel camber
B. Light-weight frame
C. Rigid construction
D. High seats

E. High backrests

Choose the correct answer from the options given below :

1. Aand E only

2. A BandConly

3. B,CandEonly

4. DandE only
Options :

92090628513. 1
92090628514. 2
92090628515. 3
92090628516. 4



Question Number : 29 Question Id : 9209067213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wafl/ufcfirdrsit wge e & fafafad fadward 8-t =rfeu :
e & R

DI gl

fRR Fxem

Ft e

E. $d S

- fag T faspedl # @ Hel IR &1 994 SHifeig

(1) &dd A3MRE
(2) &9d A B3HRC
(3) &dd B, C 3ARE
4) &dd DSRE
Options :
92090628513 1
92090628514, 2

92090628515. 3
92090628516. 4

>

o N =

Question Number : 30 Question Id : 9209067214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Medial meniscus is torn more frequently than the lateral
meniscus.
Reason (R) : Medial meniscus of the knee joint is more firmly attached to

medial collateral ligament and semimembranosus muscle.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A)and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is truebut (R) is false
4

(A) is false but (R) is true

Options :

92090628517. 1
92090628518. 2
92090628519. 3
92090628520. 4

Question Number : 30 Question Id : 9209067214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € $uA 3T MU §: 0P UFYA (Assertion &) B FU  H ff@d § o R1 ITS FRUI
(Reason R}a?'{“_'-'l ﬁ;

iy A . devd A sy $t ganr 1 Hifsga afea 39 faefa &t emaftr sifte 2

HRUIR : ged & Siig &1 Hifsga Afew Hifgga siaewa frme ok Ity
usft ¥ geg U A IS Sl

SRIF HYF & el 7, 11 fau 7 faFwed! & 8§ 9a Iugad I &1 994 Fiforw

(1) ASIRRIA TEl § 3R R A B UL RN §

2) AR REH TE E AfFTR AT TS TN TS ©

B3) ATHE APTREE T

(4) ARITEIE APTRUG T

Options :
92090628517. 1
92090628518. 2



92090628519. 3
92090628520. 4

Question Number : 31 Question Id : 9209067215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—| : Spinal traction may move joint sufficiently to stimulate the
mechanoreceptors, thus, decreasing joint-related pain.

Statement—Il : Lumbar traction can decrease the size of herniated disc
material.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement |l is true

Options :

92090628521. 1
92090628522. 2
92090628523. 3
92090628524. 4

Question Number : 31 Question Id : 9209067215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERAAIC TR |

YT | WA ¢RH JiRETRd B IR F F R g #t vafe aen & Rar ar @
fored fo wirg-Hdifid g ue iran 21

HY 11: TR e giites fewd uerd & SeR &1 gel 3t g
FURIG U & 3ffatd |, 1 fau 7u fadead! & 9 wdl 3w &1 994 Fifo

(1) ST RS T ®
(2)  HYTI 3R 1 EH ET
(3) HYTIHA A Y 11 s g
(4) HYF | IEA g, AP HY 11 IA §

Options :

92090628521. 1
92090628522. 2
92090628523. 3
92090628524. 4

Question Number : 32 Question Id : 9209067216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The risk of rupture of the vertebral disk fibers is maximum with

1. heavy axial compression and bending forward

2.  heavy axial distraction and bending forward

3. heavy axial distraction, torsion and bending forward

4. heavy axial compression, torsion and bending forward
Options :

92090628525. 1
92090628526. 2
92090628527. 3
92090628528. 4

Question Number : 32 Question Id : 9209067216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUSH-[S%H & {1 1 BT Sifad & Ty Y 31t g g
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(2 fagra sty fEawm SR ol gea
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Options :
92090628525. 1
92090628526. 2

92090628527. 3
92090628528. 4

Question Number : 33 Question Id : 9209067217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Breast milk is associated with several advantages. These are:
lower risk of infection
protects from allergy
low cost of feeding

has higher protein content than cow's milk

m o O @ p

lower content of polyunsaturated fatty acids (PUFA)
Choose the correct answer from the options given below :
1.  AandE only

2 A, E and D only

3. A,DandEonly
4

A, B and C only

Options :

92090628529. 1
92090628530. 2
92090628531. 3
92090628532. 4

Question Number : 33 Question Id : 9209067217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
TUF Fagd aH eI ]
A, HHU &I SIREH HH g1
B. Wgoldl 4 & S
C. HH MBI YN
D. T F gy feb Wl g

E. §g-3Jtd a1 ofd &1 HH gl
= fau v fasw el 7 9 gl Iuge IR &1 99 DI ;

(1) &dd A3RE

(2) &dd A E 3R D

(3) dd A, D3RE

(4) &Had A, B3R C
Options :

92090628529. 1
92090628530. 2
92090628531. 3
92090628532. 4

Question Number : 34 Question Id : 9209067218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Muscle reaction time training or proprioceptive training after
an acute ankle sprain will not determine the development of
chronic ankle instability.

Statement—Il :  Chronic ankle instabilty can be both functional or
mechanical in nature.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

g R B3

Statement | is false but Statement |l is true



Options :

92090628533. 1
92090628534. 2
92090628535. 3
92090628536. 4

Question Number : 34 Question Id : 9209067218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RaFERume:
HYT | TEA P HRIC B & uyrq Ul siftifehar sra ufdieror an waiavugor ufiemn eaa
@ fdfwrey sifera $ FAuffa 58 st

HYF || - TG DI ST R Wy H S FEfEs siyal 9ifde g gl g
SURiad HYA & el |, i fau U fadwed! # O wad Iuge I &1 994 Sifoe

() BYF SR T 8

(2)  HYF 1SRG A B

(3) @Y1 9 g, Afth HY 11 T 8§
(4) Y1 39A g, AHT FYF 11 9T 8

Options :

92090628533. 1
92090628534. 2
92090628535. 3
92090628536. 4

Question Number : 35 Question Id : 9209067219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following sequence of instructions must be given to the patient for teaching
him to wear his trans-tibial prosthesis :

A. Place amputed limb in the socket
Remove the wedge
Apply the liner

Place wedge between socket and medial condyle

m o o m

Insert the limb
Choose the correct answer from the options given below :

1. A,C,B,D,E
2. B ADCE
3 AGCBED
4. ABC,DE

Options :

92090628537. 1

92090628538. 2

92090628539. 3
92090628540. 4

Question Number : 35 Question Id : 9209067219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A fa=sfeaa sin &t aide o 3@

B. du®IgeHl

C. TIER &I @M
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E. 37! i e
= U e faswedl § 9 998 Iugdd IR &1 90 DIfe ;

(1) ACBDE
(2 B.ADCE
(3 ACBED
4 ABCDE

L

Options :

92090628537. 1
92090628538. 2
92090628539. 3
92090628540. 4

Question Number : 36 Question Id : 9209067220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Basic principle of strengthening exercise include

1.  Accuracy
2. Hypertrophy
3. Perception
4.  Specificity

Options :

92090628541. 1

92090628542. 2

92090628543. 3
92090628544. 4

Question Number : 36 Question Id : 9209067220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wyfi srany & e figia A gefed g

(1) afigsdl @ Usft-sffagfs
(3) (4) faRmar
Options :

92090628541. 1
92090628542. 2
92090628543. 3
92090628544. 4

Question Number : 37 Question Id : 9209067221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person is standing on the platform. With anterior movement of the platform,
there is activation of the ankle synergy, which consists of:

1. activation of dorsiflexors, hip flexors, abdominals and neck flexors

2. activation of plantar flexors, dorsiflexors, abdominals and hip
extensors

3. activation of plantar flexors, hip extensors, back and neck extensors
4.  activation ofhip flexors, plantar flexors and neck flexors

Options :

92090628545. 1
92090628546. 2
92090628547. 3
92090628548. 4

Question Number : 37 Question Id : 9209067221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628545. 1
92090628546. 2
92090628547. 3
92090628548. 4

Question Number : 38 Question Id : 9209067222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person is sitting in high sitting position. The joint reaction force of the
tibiofemoral joint will increase in the following order:

A.

m o O W

Knee at 0° of flexion with 5 kgs weight at the ankle joint
Knee at 60° of flexion with no weight at the ankle joint
Knee at 0° of flexion with 5 kgs weight near tibial tuberosity
Knee at 90° of flexion with 5 kgs weight at the ankle joint

Knee at 90° of flexion with no weight at ankle joint.

Choose the correct answer from the options given below :

1. BECRA
2. EDCBA
3. EDBCA
4. D,E,BAC

Options :

92090628549. 1
92090628550. 2
92090628551. 3
92090628552. 4

Question Number : 38 Question Id : 9209067222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

US eafad grs-fufen & siawn # 931 g1 fefamt-fieratva oie R 81 arat ufafsear 9a &1 sgan
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A, el 0° FAaRE IR SR 2@ & I8 W 5 kg BT UR|
B. el 60° T W SR €@ & Wig W SIS YR -Tel|
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4 fou e faedl A 8 98l IR &1 994 Sifve
(1) DLE C.BA
(2) EEDCBHBA
(3) E DB CA

4) DEBAC

Options :

92090628549. 1
92090628550. 2
92090628551. 3
92090628552. 4

Question Number : 39 Question Id : 9209067223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : The anterior glide of the ankle mortice will lead to increase in

plantarflexion.

Statement—Il :  The roll and glideoccurs in the opposite direction when a

In the
options

1.

s
3
4

concave articular surface moves on a convex articular
surface.

light of the above statements, choose the correct answer from the
given below :

Both Statement | and Statement |l are true
Both Statement | and Statement Il are false
Statement | is true but Statement Il is false

Statement | is false but Statement |l is true

Options :

92090628553. 1
92090628554. 2
92090628555. 3
92090628556. 4

Question
Question

Number : 39 Question Id : 9209067223 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sk
HY |
HY |

P feu Mg &:
. U AieY @) TR 7a1ge 37 § wicwdaH ® g arfti

. Od U 3fddd MfEpeR Jdg U Iad AeHeR Gag W fauswd ¢, 9@ Jd iR
g s faudia feen d € €

JURIE HYH & 3l #, I fou 7 feadl & I 9ad Iuga IR &1 9494 Siforw

(1)
(2)
(3)
(4)

Options :

YT I AR uEH gT 8
HYA | R 11 ST T §
HUT | T €, b HYF 1| 3 &
FYT 1 T g, AP HyT 1 aa e

92090628553. 1
92090628554. 2
92090628555. 3
92090628556. 4



Question Number : 40 Question Id : 9209067224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An ideal cool down during cardiac rehabilitation should incorporate the following
type of exercise/movements :

1.  Active stretching exercises with intermittent isometric exercises

2. Movements of diminishing intensity and passive stretching of major
muscle groups

3. Exercise around lactate threshold

4.  Sustained isometric hold of major muscle groups

Options :

92090628557. 1
92090628558. 2
92090628559. 3
92090628560. 4

Question Number : 40 Question Id : 9209067224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FMEUP Yafg & R Ua ey pasa- # Ay ueR & ammaffaf & aftfa
H1 9lfgul

(1)  afcsaarard @i somam & Ty siaufie ity somam)

(2) digard ged gu s Ud wiE oei-wigl it Afesaanardt i
(3) dace dNgies & gH S|

(4) U@ UL-Wgl &1 Hod YHAC HHT |

e

Options :

92090628557. 1
92090628558. 2
92090628559. 3
92090628560. 4

Question Number : 41 Question Id : 9209067225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—I| :  Friction massage comprises of application of stretch forces
across fascial planes.

Statement—Il :  Myofascial massage comprises of application of deep
circular massage to break up adhesions.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090628561. 1
92090628562. 2
92090628563. 3
92090628564. 4

Question Number : 41 Question Id : 9209067225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R s Rrm e

HY | - e mare o yraroliy aadl & €9 B &1 3udn it 2

&Y 11 - Yh-wravofty wa 7 sl @Y dreR & fore S ader wars &1 Iudi wita 21
JURI HUH & aireite |, - feu U el § 9 w8l I &1 9g- Sifern

(1) SUF 1RSI 9d e
2) BT SRnSH Ed g
(3) @YU | E g, Sfthe SYA 1 S §
(4)  HYTIHTY g, A FYFT 11 T &
Options :
92090628561. 1
92090628562. 2

92090628563. 3
92090628564. 4



Question Number : 42 Question Id : 9209067226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concave articular surface of glenchumeral joint called (a) is
deepened by (b) ;

1. (a)glenoid fossa, (b) glenoid labrum
2.  (a) glenoid labrum, (b) glenoid fossa
3.  (a) scapular fossa, (b) glenoid cavity
4.

(a) humeral fossa, (b) scapular labrum

Options :

92090628565. 1
92090628566. 2
92090628567. 3
92090628568. 4

Question Number : 42 Question Id : 9209067226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS &1 Addd HTT (a) Hedrd g, ol & (b) F1 guig ¥ 3R
T Bl STl &
(1) (a) TS B (b) feFTeS o
2) (a) TS Wsm (b) TS Wi
3) (a) WYR BRI (b) Rres HRd
(4)  (a) EARE BT (b) THYTR AsH

L}

Options :

92090628565. 1
92090628566. 2
92090628567. 3
92090628568. 4

Question Number : 43 Question Id : 9209067227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : For treatment of a patient with burns, physiotherapy should
be deferred untili the patient becomes receptive for
treatment.

Statement—Il :  For treatment of a patient with burns, physiotherapy is

directed toward prevention of scars and contracture.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4

Statement | is false but Statement Il is true

Options :

92090628569. 1
92090628570. 2
92090628571. 3
92090628572. 4

Question Number : 43 Question Id : 9209067227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gl ey Ruu &
HYT1 - 94 & W F IuER # It & IR & forg yeueita g a@ wifas-Rfeen e &

S =Rt

HY 11 74 F A F Iu=R A Dfasfafea gultg-dee & gu9d $1 R Ffdy 8@t 2
SR HYT & Aol |, -1 feu 7 fAeedi § 9 98 3T &1 994 Siforw

(1)
(2)
(3)
(4)

HYF | R 1 SH T 8

HY 1 3R 11 SF A §

HYF | T ¢, b Y 1l 3T &
B | 3T §, A HYH 11 TA §

Options :

92090628569. 1
92090628570. 2
92090628571. 3



92090628572. 4

Question Number : 44 Question Id : 9209067228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Snapping hip is a condition most commonly seen in

1. footballers

2. cricketers

3. kabaddi players

4.  ballet dancers
Options :

92090628573. 1
92090628574. 2
92090628575. 3
92090628576. 4

Question Number : 44 Question Id : 9209067228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&t iR &t e I o 3Et S 21

(1) Peare @ fEred
3) dasl & f@afed (4) oW Tdd!
Options :

92090628573. 1
92090628574. 2
92090628575. 3
92090628576. 4

Question Number : 45 Question Id : 9209067229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Diabetic athletes involved in endurance events who are
loading carbohydrates prior to competition should not
change their insulin dosage.

Reason (R) : Diabetic athletes need to leamn the effects of different types
of exercise on their blood glucose levels.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090628577. 1
92090628578. 2
92090628579. 3
92090628580. 4

Question Number : 45 Question Id : 9209067229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 41 &Y foU U & U UBYA (Assertion A) & ®U T faf@d € dl g8U 39S SR
(Reason R}%Fﬂ' ﬁ;

By A : TSHY Fd<d H U @1 dd sHafes sl o 6 ufedifar @ od
FrElIgSe dd € B AT THfom Ft AE S 7L sea- T

FRIR: srrafes sl 1 fafim usR F o J €1 919 I9F IR & bl
TR IR IHTE HI &1 T HTL0Hd

SWRIF HYF & el #, 11 fau 70 faewedl & 8 9a Iuga I &1 994 DHifere

(1) ASMRRSH Tel g 3R R A P Ugl aaraT 8
2) AR REH HEl € dfdh r, A B HE AmEmn Ad €
3) ATElE dfb R TG TR B
4) AT RS AfFTR UG B
Options :

92090628577. 1
92090628578. 2



92090628579. 3
92090628580. 4

Question Number : 46 Question Id : 9209067230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Physiotherapeutic evaluation of lymphatic disorders include all, except
1. girth measurement
2.  volumetric measurement
3. palpation of the involved limb
4

muscular strength

Options :

92090628581. 1
92090628582. 2
92090628583. 3
92090628584. 4

Question Number : 46 Question Id : 9209067230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

adter-deeft faerl o & fyarg wiit Hifasfafdaeta gegiea &1 U €
(1) of¥fer &1 amg (2) Tgd &1 HY

3)  uuifdd st &1 wel-udtan 4) Uity arepd

Options :

92090628581. 1
92090628582. 2
92090628583. 3
92090628584. 4

Question Number : 47 Question Id : 9209067231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Slalement=—l . A reseaich study involving finding oul the number of
caesarean section deliveries after a particular intervention
would use a post-test only control group design.

Statement—Il : A research study in which each subject receives more than
one actual treatment would use a pretest-postest control
group design.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

. Both Statement | and Statement |l are false
3. Statement | is true but Statement 1l is false
4

Statement | is false but Statement Il is true

Options :

92090628585. 1
92090628586. 2
92090628587. 3
92090628588. 4

Question Number : 47 Question Id : 9209067231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty Ry U €

Y| - U A9 IUIR & 91¢ U UHd] I HE& &l UIed F & fore sfemgq | FHad
URec® dheld Ju ifideq &1 wi faar smem)

HYF 11 YOG DI UF T 3 aRafds JUER & drd g # Hiee-UReew deia g4
Hfimer &1 g fear s

SR Y & 3Tl #, T fou 70 fawedl & 8 9ad Iugad Ik &1 999 DHifere

(1) FYTIARnSH IT @

2) HYTIHRNSH FT

3)  HYT 1T g, AP FUH 11 3 8
(4) HUTINTA g, A FYA 11 T 8

Options :

92090628585. 1
92090628586. 2
92090628587. 3



92090628588. 4

Question Number : 48 Question Id : 9209067232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most important aspect of physiotherapy care is,

1.  achieving profits

2.  patient treatment and achieving goals

3. personnel management

4. personal growth of physiotherapist
Options :

92090628589. 1
92090628590. 2
92090628591. 3
92090628592. 4

Question Number : 48 Question Id : 9209067232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ ffosfafeen Savd &1 ved eyl ugd B
(1) @ sifofd S 2) Ift BT IUIR AR T&T U HAI
3) HHI ydyd @) fFfeas o1 9afdes G

Options :

92090628589. 1
92090628590. 2
92090628591. 3
92090628592. 4

Question Number : 49 Question Id : 9209067233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—II :

List—I List—I1
(A) | Empty can test (I} | Rotator cuff tear
(B) | Drop arm test (11} | Shoulder instability
(C) | Load and shift test (1ll) | Isolation of supraspinatus muscle
(D) | Adson'’s test (IV) | Thoracic outlet syndrome

Choose the correct answer from the options given below :

1. (AHIV); (B)(1): (C)=(ll); (D)=(I)

2. (A)(I); (B)(I): (C)-(IV); (D)~(1)
3. (A B)(1): (C)HIV): (D)=(11)
4. (A)=(IIN; B)=(1); (C)=(11); (D)-(IV)
Options :

92090628593. 1
92090628594. 2
92090628595. 3
92090628596. 4

Question Number : 49 Question Id : 9209067233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y g 1 & e Sifon

Tl =t -
(A) THFITE ) AR FF B gel
(8) g AH T ay HY B ARRA
€ s s R e iy GURUIEACY ULl &1 gYP HAl
(D) USHACE av) dRf® sgede Rigm
-1 fau T fasedl & § el IR &1 99 S

(1) (A)-(IV), (B)-(1), (C)-(liT), (D)-(IN)
(2) (A)-(l), (B)-(1, (C)-(1V), (D)-(1)
(3) (A)-(I1), (B)-(1), (C)-(1V), (D)-(l)

)
)
)
(4) (A)-(In), (B)-(1), (C)-(l), (D)-(1V)



Options :

92090628593. 1
92090628594. 2
92090628595. 3
92090628596. 4

Question Number : 50 Question Id : 9209067234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. ; : z 1 1 :
An articular marginal fracture involving the dorsal 3 or volar 3 articular

surface of the lower radius with subluxation or dislocation of the carpus:
1. Colles’ fracture
2. Barton’s fracture
3. Smith's fracture

4.  Essex-Lopresti fracture

Options :

92090628597. 1
92090628598. 2
92090628599. 3
92090628600. 4

Question Number : 50 Question Id : 9209067234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H Yeua & Fed um & snfEper gde & erfa 173 @1 afer 1/3 & T ThaeR

& 1Y 1YY FT Yearawwr 11 f3welis e giar g

(1) el haeR 2) T haR

3) o e (4) SUTE-ATURT ThaeR
Options :

92090628597. 1
92090628598. 2
92090628599. 3
92090628600. 4



Question Number : 51 Question Id : 9209067235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The terminal part of spinal cord and dural sac end at and
respectively.

1. L1581

2. L2,82

3. L3,S83

4. L4, 54
Options :

92090628601. 1
92090628602. 2
92090628603. 3
92090628604. 4

Question Number : 51 Question Id : 9209067235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B3] R SIXd A6 F Sifad Wi 3R R HHL: THI dId 3
(1) L13Rs1 ) L23fRs2
3) L3 3fRs3 @) L4 3fRs4a

Options :

92090628601. 1
92090628602. 2
92090628603. 3
92090628604. 4

Question Number : 52 Question Id : 9209067236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=II :

List—I List-II
(Source of motion restriction) (Effective agents)
(A) | Muscle weakness (I) | Contrast bath
(B) | Oedema (I1) | Electrical stimulation (motor)
(C) | Acute injury (IIl) | Thermotherapy
(D) | Soft tissue shortening (IV) | Cryotherapy

Choose the correct answer from the options given below :

T (A (B)=(1); (CH(IV): (D))

2. (A1) (BI(IN); (CIHIV); (D))
3. (A B(IV); (C)~(1); (D))
4. (AN B); (CHI); D)(IV)
Options :

92090628605. 1
92090628606. 2
92090628607. 3
92090628608. 4

Question Number : 52 Question Id : 9209067236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | %G1y gt 1 & e i

Tt | fafate 7 aen &1 ) Gl -1 (UHTESE W)
@) Ui s 1) Here 9Ny
(B) TG an  IgEN SHUH @)
© R &fa (i  yHTRd
o) We-Rg@mdsa  gv wrRd

9 fau o fawedl © 9 Tel IR &1 99F S

(1) (A)-(l1), (BY-(), (C)-(IV), (D)-(111)

(2) (A)-(1), (B)-(l1), (C)-(IV), (D)-(I1)

(3) (A)-(ln), (B)-(1V), (C)-(1), (D)-(I1)

(4)  (A)=(lIn), (B)-(1), (€)-(11), (D)-(IV)

Options :

92090628605. 1
92090628606. 2
92090628607. 3
92090628608. 4

Question Number : 53 Question Id : 9209067237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—| : Secondary lymphedema is caused by injury to one or more
components of lymphatic system.

Statement—Il :  Primary lymphedema is more prevalent than secondary
lymphedema.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement || is false

4. Statement | is false but Statement Il is true
Options :

92090628609. 1
92090628610. 2



92090628611. 3
92090628612. 4

Question Number : 53 Question Id : 9209067237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MR sy Rume:

FUF | GHBT o P UF 1 P saadl B eifd F HR fadias ferbfea g 2|
Fu 1 Ui e fidis fordsfem @ srfte vafea 2

SURIE By & el |, 19 fau mu faeedt § @ 9t 3w &1 994 Sifee

(1)  HYF IR NSHI TI 8

() HYT A3 a8

3) @Y1 Ed g, dfh U 11 3 ©
(4) &Y AT g, Afh HY 11 I 8

Options :

92090628609. 1
92090628610. 2
92090628611. 3
92090628612. 4

Question Number : 54 Question Id : 9209067238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Interventions to manage spasticity are
A. hot packs on the affected muscle

B. PNF patterns (Proprioceptive Neuromuscular Facilitation patterns) that
emphasize rotational movements

C. ice packs on the affected muscle

D. quick stretching of affected muscle

E. mental imagery

Choose the correct answer from the options given below :

1. B and C only

2. AandB only
3. B,CandE only
4. Conly

Options :

92090628613. 1
92090628614. 2
92090628615. 3
92090628616. 4

Question Number : 54 Question Id : 9209067238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e Tl & e H uged JUER § -

uTfad wigash w gle-Ae @

TG gXddi & Hed &7 ard UIiraPd 2Rmgar e (PNF) Te|
wIfad AROE R Y- aHl

guTfaa wiauRh & oot § wfim s

E. AFR® g

= fou 7u faswsedl 7 9 998 Iugad IR &1 99 DI ;

(1) B3RC

(2) &dd A3MRB

(3) &dd B, C3RE

4) ad C
Options :
92090628613. 1
92090628614. 2

92090628615. 3
92090628616. 4

>
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Question Number : 55 Question Id : 9209067239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cross over-run turning, bending and backward running are some of the
exercises specifically used to improve

1.  muscle strength

2.  muscle coordination
3. agility
4. power

Options :

92090628617. 1
92090628618. 2
92090628619. 3
92090628620. 4

Question Number : 55 Question Id : 9209067239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o SfiaR-3 eff, RSP RSN Wamm eSS fF g
¥ guR @ & forg a2 o €1

(1)  O9ilg ared (2) Uefg gaag
3)  gRar @fafad (4 uia
Options :

92090628617. 1
92090628618. 2
92090628619. 3
92090628620. 4

Question Number : 56 Question Id : 9209067240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll (according to Piaget's stages of cognitive
development) :

List—I List—I|
(Stages) (Approximate age)
(A) | Preoperational (I) | Birth=2 years
(B) | Sensorimotor (y |7-12 years
(C) | Formal operational () | 2-7 years
(D) | Concrete operational (IV) | 12 years and up

Choose the correct answer from the options given below :

1. (A0 (BHIV): (CH(I1); (D)y(I)

2. (A)(I); (B)1): (CI-(IV); (D)~(Il)
3. (A1) (B)I); (C)=(llt); (D}~(1V)
4. (A-(I); (B)=(I); (C)~(1); (D)-(IV)
Options :

92090628621. 1
92090628622. 2
92090628623. 3
92090628624. 4



Question Number : 56 Question Id : 9209067240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |1y g 11 @ e Siforg
-1 (U & daeTeTs A | (SHTFY 1Y)

fawma & fagia ot
3T
&) gd-dferarers nm STHI29Y
B) TdarTHE a 7-1279
) shoafe dfeaers ay 2-799
(D) Hel-dferareTs av) 12 a8 3 3iftle
= feu o fawredi 1 9§ 9l I &1 9uA i
(1} (A)-(1), (BY-(IV), (C)-(1), (D)-(11}
(2} (A=), (BY=(1), (C)=(IV), (D)=(11}
(3) (AY=(1), (BY=(I), (C)=(1), (D)=(1V)
(4) (AY=(11), (B)=(11), (C)=(0), (D)=(IV)
Options :

92090628621. 1
92090628622. 2
92090628623. 3
92090628624. 4

Question Number : 57 Question Id : 9209067241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The vasomotor center located in lower pons and upper
medulla provides normal vasomotor tone.

Reason (R) : Cardiac output influences blood pressure.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is truebut (R) is false

4. (A)is false but (R) is true

Options :

92090628625. 1
92090628626. 2
92090628627. 3
92090628628. 4

Question Number : 57 Question Id : 9209067241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I € FuA AT MU 0P HUFHYA (Assertion A) F U H faf@d g @ g IUF SR
(Reason R}QFF'-T ﬁ;

ffirmy A m?mmﬂwﬁﬁmmmmmmm
Hdl gl
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Options :

92090628625. 1
92090628626. 2
92090628627. 3




92090628628. 4

Question Number : 58 Question Id : 9209067242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following is a sign commonly found in individuals with cystic fibrosis :
1. Rapid-shallow breathing
2. Limited chest expansion
3. Productive cough
4. Thick secretions difficult to be removed

Options :

92090628629. 1
92090628630. 2
92090628631. 3
92090628632. 4

Question Number : 58 Question Id : 9209067242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiftes wreaftng & Affdl § Fuferfad daor smm=: 2ar g -

(1) e ud fofean ya= (2) HifFd gard faxaeo
(3) @i & 9y SaH 4) el FaH foraet e HféH gar @
Options :

92090628629. 1
92090628630. 2
92090628631. 3
92090628632. 4

Question Number : 59 Question Id : 9209067243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In proprioceptive neuromuscular facilitation, the technigque which involves
movement in a strong agonistic pattern against maximal resistance, followed
immediately and without relaxation by a reversal of the movement into the
antagonistic pattern, which is also resisted maximally, is known as

1. rhythmic movement
2. slow reversals

3. repeated contractions
4

rhythmic activation

Options :

92090628633. 1
92090628634. 2
92090628635. 3
92090628636. 4

Question Number : 59 Question Id : 9209067243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TifRRPe Rimegar Bifiees @ a8 aa-ite forad aogg wififEs ted § nfafafy &
o faRiy & f9e o ot € ok o et &1 fasr e qia terifafes de o
faodta feam & siftrean fadiy & fawg nfafafa &1 fosar sman €, Hgardl gl

(1)  REfie gade @ T frada
3) ddfifes sieam @) e vwdhdeEm

Options :

92090628633. 1
92090628634. 2
92090628635. 3
92090628636. 4

Question Number : 60 Question Id : 9209067244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The age group of individuals newly diagnosed as cystic fibrosis is
1. <1year
2. 5-10 years
3. 10-15years

4. 15-20 years

Options :

92090628637. 1
92090628638. 2
92090628639. 3
92090628640. 4

Question Number : 60 Question Id : 9209067244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRfes wafa & Wf e & wm -1 H g1 €

1) <199 () 5-10a4

3) 10-159% 4 15-20a4
Options :

92090628637. 1
92090628638. 2
92090628639. 3
92090628640. 4

Question Number : 61 Question Id : 9209067245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measurement of the variability around the mean within a data set is
1. range
2. variance
3. correlation coefficient
4. median

Options :
92090628641. 1



92090628642. 2
92090628643. 3
92090628644. 4

Question Number : 61 Question Id : 9209067245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grer-9e A 7reg & g St afyafddr &1 A 8|

(1) ¥ 2) WER
3) Te-HduraTd oie (4) wrfereT
Options :

92090628641. 1
92090628642. 2
92090628643. 3
92090628644. 4

Question Number : 62 Question Id : 9209067246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reflex theory of motor control was given by

1. Bernstein

2. Stephen Weisz

3.  Sir Charles Sherrington

4.  Hughling Jackson
Options :

92090628645. 1
92090628646. 2
92090628647. 3
92090628648. 4

Question Number : 62 Question Id : 9209067246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hiew Frdam &1 ufdadf frgid & g fean mar Uil
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Options :

92090628645. 1
92090628646. 2
92090628647. 3
92090628648. 4

Question Number : 63 Question Id : 9209067247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One of the following is a dependent airway clearance technigue :
1.  Breathing control phase
2.  Shaking on rib cage
3. Thoracic expansion exercise
4

Forced expiratory technique

Options :

92090628649. 1
92090628650. 2
92090628651. 3
92090628652. 4

Question Number : 63 Question Id : 9209067247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefaa 7 & ue sy yof Fem aedie @ -

(1) %9 = sEwn (2) Q&R B HUTHH B!
3)  URR fawaor somam (4) EdPpd IWAYA db-ilh
Options :

92090628649. 1
92090628650. 2
92090628651. 3



92090628652. 4

Question Number : 64 Question Id : 9209067248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List-Il (Graded oscillation techniques) :

List—l List—lI
(Grades of mobilizations) (Description)
(A) | Grade | (I} |Large amplitude rhythmic

oscillation within range

(B) | Grade Il (1) | Small amplitude rhythmic
oscillation performed at the
limit of available range

(C) | Grade lll () | Small amplitude rhythmic
oscillation at beginning of
range

(D) | Grave IV (IV) | Large amplitude rhythmic

oscillations up to the limit of
available range

Choose the correct answer from the options given below :

1. (A1) (B)=(1); (C)-(IV); (D)~(lIl)
2. (AIV); (B)=(IIl); (C)=(I1); (D)~(1)
3. (A)(I); (B)=(IV); (C)~(llN); (D)-(I)
4. (A=(I); (B)=(1): (C)=IV); (D)=(Il)

Options :

92090628653. 1
92090628654. 2
92090628655. 3
92090628656. 4

Question Number : 64 Question Id : 9209067248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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NG
© US-m (Vo & URH H HH ™ dTel dgdg aren
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(1) (A)-(1), (B)-(1), (C)-(IV), (D)-(1IT)
(£) (A)-(IV), (B)-(1), (C)-(n), (D)-(1)
(3) (A)-(1), (B)-(1V), (C)-(1I), (D)-(I)
(4) (A)-(H1), (B)-(1), (C)-(1V), (D)-(1)

Options :

92090628653. 1
92090628654. 2
92090628655. 3
92090628656. 4

Question Number : 65 Question Id : 9209067249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The various types of medium frequency currents are
diadynamic currents

high voltage pulsed galvanic currents

A
B
C. rebox-type current
D. TENS
E. Russian currents
Choose the correct answer from the options given below :
1. Aand C only
2. CandEonly
3. B,CandE only
4

C, D and E only



Options :

92090628657. 1
92090628658. 2
92090628659. 3
92090628660. 4

Question Number : 65 Question Id : 9209067249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafirm ueR & wew sngfti ard FRe SH USPR § --

A, SHIEEATS
B. 3 dlieeyl Wfed fea-t #ve

c. Yidfag-e5yu Hue

D. TENS

E. IRmA sve

1 feu o fasedt # 9 9 IR &1 95 S
(1) &dd A3RC

() ad C3HNE

(3) &dd B, C3RE

(4) &$4ad C, DIRE
Options :

92090628657. 1
92090628658. 2
92090628659. 3
92090628660. 4

Question Number : 66 Question Id : 9209067250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List-I List—II
(A) | Resistance by physiotherapist (1) Resistance modality
(B) | Increasing the leverage () | Means of progression
(C) | Resistance by isokinetic () | Objective resistance
dynamometer application
(D) | Elastic band (IV) | Subjective resistance
application

Choose the correct answer from the options given below :

1. (A(I); (BI-(V); (C)-(ill); (D)}-(1)

2. (A(I); (B)-(IV); (C)~(1); (D)1l
3. (A-(V): (B)=(ll); (C)=(lll); (D)~(1)
4. (A(IV); (B)(II); (C)(1); (D)=(1l)
Options :

92090628661. 1
92090628662. 2
92090628663. 3
92090628664. 4

Question Number : 66 Question Id : 9209067250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(I), (B)-(1v), (C)-(H, (D)-(1)
(2) (A)-(I), (B)-(1v), (C)-(1), (D)-(1ir)
(3) (A)-(IV), (B)-(I0), (C)-(1), (D)-(1)
(4) (A)-(IV), (B)-(I1), (C)-(1), (D)-(1ir)

Options :

92090628661. 1
92090628662. 2
92090628663. 3
92090628664. 4

Question Number : 67 Question Id : 9209067251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A patient who has to be given cryotherapy, also needs to be checked for his
strength of the same muscle. What should be the order of assessment and
treatment is this situation?

1. Strength testing should be performed before the cryotherapy
application

2. Strength testing should be performed after the cryotherapy
application

3.  Strength testing should not be done is this situation

4.  Strength testing can be performed anytime as it is not affected by
cryotherapy

Options :
92090628665. 1
92090628666. 2



92090628667. 3
92090628668. 4

Question Number : 67 Question Id : 9209067251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U il o1 SN ygH & o € td Iudt 39 & wigief @1 ared &1 gedie Wt S
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Options :

92090628665. 1
92090628666. 2
92090628667. 3
92090628668. 4

Question Number : 68 Question Id : 9209067252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is abnormal EMG activity of voluntary musculature?
1. Motor unit action potential
2.  Electrical silence
3. Compound motor action potential

4. Positive sharp waves

Options :

92090628669. 1
92090628670. 2
92090628671. 3
92090628672. 4

Question Number : 68 Question Id : 9209067252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628669. 1
92090628670. 2
92090628671. 3
92090628672. 4

Question Number : 69 Question Id : 9209067253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Oesophagitis, that is commonly seen in patients with AIDS is caused due to

1. Candida infection

2.  Salmonella infection

3.  Shigella infection

4.  Protozoal infection
Options :

92090628673. 1
92090628674. 2
92090628675. 3
92090628676. 4

Question Number : 69 Question Id : 9209067253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIDS & Al § arar=: fws amn afierany & BRU gl Bl
(1) iU WhHU (2) T Hspau]
3) fanen gewm (4) WIS e
Options :

92090628673. 1
92090628674. 2



92090628675. 3
92090628676. 4

Question Number : 70 Question Id : 9209067254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Central cyanosis indicates the following :
1. Inadequate gas exchange in the lungs
2. Intolerance to exercise
3. Lymphatic dysfunction
4. Respiratory acidosis

Options :

92090628677. 1
92090628678. 2
92090628679. 3
92090628680. 4

Question Number : 70 Question Id : 9209067254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628677. 1
92090628678. 2
92090628679. 3
92090628680. 4

Question Number : 71 Question Id : 9209067255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Specific objectives of recovery process in sports and training
attaining maximum intensity of sports and training
delaying development of delayed onset muscle soreness
tissue repair

restoration of function

m B o B »

neuromuscular and psychological recovery

Choose the correct answer from the options given below :

1. Eonly

2. A, BandE only

3. C,DandEonly

4. B,C,DandE only

Options :

92090628681. 1
92090628682. 2
92090628683. 3
92090628684. 4

Question Number : 71 Question Id : 9209067255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628681. 1
92090628682. 2
92090628683. 3
92090628684. 4

Question Number : 72 Question Id : 9209067256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—Il about results of resisted isometric testing :

List-I List—II
(Findings) (Possible pathologies)
(A) | Strong and painless (I) | Minor lesion of tested muscle
(B) | Strong and painful (II) | Complete rupture of tested muscle
(C) | Weak and painless (Il1y | Partial rupture of tested muscle
(D) | Weak and painful (IV) | No lesion of tested muscle

Choose the correct answer from the options given below :

1. (A (B)=(Il); (C)-(IV); (D))

2. (A)F(IV); (B)=(1); (C)=(11); (D)=(1I)

3. (A B)1): (C)IV): (D)=(11)

4. (AR(); (BY(IV); (C)=(I1); (D}(11)
Options :

92090628685. 1
92090628686. 2
92090628687. 3
92090628688. 4

Question Number : 72 Question Id : 9209067256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(n), (B)-(11), (C)-(IV), (D)-(1)

(2)  (A)-(IV), (B)-(), (C)-(1I), (D)-(1l1)

(3)  (A)-(m), (B)-(1), (C)-(IV), (D)-(I1)

() (A)-(), (B)-(IV), (O)-(1I), (D)-(1l1)

Options :

92090628685. 1
92090628686. 2
92090628687. 3
92090628688. 4

Question Number : 73 Question Id : 9209067257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

List- List-II

(A) | Systematic reviews and metanalysis (1) |Level 2

(B) | Individual RCT with narrow confidence | (ll) | Level 3
window

(C) | Case control, case series studies (1) | Level 1

(D) | Non-randomized controlled cohort study | (IV) | Level 4

Choose the correct answer from the options given below :

1. (A(Il); (B (CIIV); (D)1

2. (Al (B)(1): (C)=(); (D)-(IV)

3. (A(I); (B)-(): (C)-(1): (D)-(IV)

4. (AY(I1); (B)(III); (C)-(IV); (D))
Options :

92090628689. 1
92090628690. 2
92090628691. 3
92090628692. 4

Question Number : 73 Question Id : 9209067257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(I), (B)-(1), (©)-(V), (D)-(1)
(£) (A)-(In), (B)-(1), (C)-(11), (D)-(IV)
(3) (AY-(I1), (B)-(1), (C)-(1), (D)-(IV})
(4) (A)-(I), (B)-(1, (C)-(IV), (D)-(1)

Options :

92090628689. 1
92090628690. 2
92090628691. 3
92090628692. 4

Question Number : 74 Question Id : 9209067258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Amlodipine is alan

1. o blocker

2. P blocker

3. calcium channel blocker

4. diuretic

Options :

92090628693. 1
92090628694. 2
92090628695. 3
92090628696. 4

Question Number : 74 Question Id : 9209067258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TEiftHes B

(1) oSl (2) p-sdlpR

(3)  pleRmm Id sl (4) SHRfeH
Options :

92090628693. 1
92090628694. 2
92090628695. 3
92090628696. 4

Question Number : 75 Question Id : 9209067259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Tibiofemoral posterior glide is given to increase flexion of the
knee joint.
Reason(R) : As the convex articular surface of tibia is glided. antero-

posteriorly over the concave articular surface of femur, the
increase in posterior glide helps to increase flexion.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istruebut (R) is false

4. (A)is false but (R) is true

Options :

92090628697. 1
92090628698. 2
92090628699. 3
92090628700. 4

Question Number : 75 Question Id : 9209067259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628697. 1
92090628698. 2
92090628699. 3
92090628700. 4

Question Number : 76 Question Id : 9209067260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following genus of mosquito act as vector of ‘bancroftian filariasis’
in India?

1. Culex

2. Anopheles

3. Aedes

4. Mansonoides

Options :

92090628701. 1
92090628702. 2
92090628703. 3
92090628704. 4

Question Number : 76 Question Id : 9209067260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ogeiad (2) UATH
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Options :

92090628701. 1
92090628702. 2
92090628703. 3
92090628704. 4

Question Number : 77 Question Id : 9209067261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The throwing motion can be divided into the following phases:
Cocking
Wind up
Follow through

Acceleration

mo o »

Deceleration

Choose the correct answer from the options given below :
1. A,B,C,D,E

2. A,D,EB,GC

3. B,ADEC

4 D.E,B.A,C

Options :

92090628705. 1
92090628706. 2
92090628707. 3
92090628708. 4

Question Number : 77 Question Id : 9209067261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, BifbTl

B. dIZUS-3(U

C. Tial-y

D. @R

E.  3fd@rul

= 3 v fasedt # 9 ugl Iov &1 9 S

(1) ABCDE
(2) A:DEBLC
(3} BADEL
4 DEBAC

Options :

92090628705. 1
92090628706. 2
92090628707. 3
92090628708. 4

Question Number : 78 Question Id : 9209067262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“The patient’s right to choose for one’s life and to voice that choice for as long
as possible” comes under the following ethical principle :

1.  Justice
2. Beneficence
3. Nonmaleficence

4. Autonomy

Options :

92090628709. 1
92090628710. 2
92090628711. 3
92090628712. 4

Question Number : 78 Question Id : 9209067262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Wt H1 30 oita= & o 90+ &1 PR iR gyRive 39 999 & a1 § 3Har 33 &l
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Options :

92090628709. 1
92090628710. 2
92090628711. 3
92090628712. 4

Question Number : 79 Question Id : 9209067263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I| with List-Il :

List- List-I

(A) | Nocturnal pain in shoulder (I) | Labral disorders
pathology

(B) | Stiffness aggravated by activity | (Il) | Impingement syndrome

(C) | Clunk sound with overhead (II1) | Cervical spine disorder
activity

(D) | Pain radiating along the arm (IV) | Osteoarthritis of shoulder

Choose the correct answer from the options given below :

1. (A(V): B)(I): (C)1): (D)=(Il1)

2. (A(I); (B)-(IV): (C)~(1): (D)=l

3. (A (B)-(IV); (C)~(); (D)~(1)

4. (AH(IVY; (BY(ID); (CH(11); (DD
Options :

92090628713. 1
92090628714. 2
92090628715. 3
92090628716. 4



Question Number : 79 Question Id : 9209067263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Tr &l 1 1 e Fife

Elif[.| =l
&) S8 P el d vBer e o owd e
B Tidfafy & Sesd d 9fe any ST fgE
€ RROR R A wE lem@m o) fded WA @6
D) o< &1 arg o e (v & &1 sfeedsmufsfes
A e o fased O @ 9e 39 o1 99A S

1) (A)-(IV), (B)-(I1), (C)-(1), (D)-(1IIy
2) (A)-(11), (B)-(1V), (C)-(1), (D)-(1lry
(
(

— —

3) (A)-(11), (B)-(1V), (C)-(11n), (D)-(1)
4) (A)-(IV), (B)-(I1), (C)-(1Hn), (D)-(1)

—

Options :

92090628713. 1
92090628714. 2
92090628715. 3
92090628716. 4

Question Number : 80 Question Id : 9209067264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence for application of LASER is :
A.  Apply the applicator on skin and start output.
B. Expose area to be treated.
C. Check patient's chart for contraindications.
D. Select appropriate energy.
E. Select an appropriate diode.
Choose the correct answer from the options given below :
1. BAE.E. D
2. B.ACDE
3. C.EDBA
4. E,C,B,A,D

Options :

92090628717. 1
92090628718. 2
92090628719. 3
92090628720. 4

Question Number : 80 Question Id : 9209067264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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S
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Options :

92090628717. 1
92090628718. 2
92090628719. 3
92090628720. 4

Question Number : 81 Question Id : 9209067265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of vitamin D synthesis using sunlight is :
A. T7-dehydrocholestrol
B. 1-a, 25-dihydroxycholecalciferol (calcitriol)
C. Cholecalciferol (D)
D. 25-hydroxy-cholecalciferol
E. Cholesterol

Choose the correct answer from the options given below :

1. E,C,ABD

2. C,ADBE

3. ACEBD

4. E/AGCDB
Options :

92090628721. 1
92090628722. 2
92090628723. 3
92090628724. 4

Question Number : 81 Question Id : 9209067265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1] E~C
() C~A
(3) A=C-=
4 E-A
Options :
92090628721. 1
92090628722. 2

92090628723. 3
92090628724. 4

Question Number : 82 Question Id : 9209067266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not help in static stabilization of the glenohumeral
joint in dependent arm?

1. Muscle activity of deltoid, supraspinatus

2 Passive tension of the rotator interval capsule

3.  Negative intra-articular pressure due to airtight capsule
4

Slight upward tilt of glenoid fossa

Options :

92090628725. 1
92090628726. 2
92090628727. 3
92090628728. 4

Question Number : 82 Question Id : 9209067266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090628725. 1
92090628726. 2
92090628727. 3
92090628728. 4

Question Number : 83 Question Id : 9209067267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : A strong and painful contraction of the skeletal muscle
during resisted isometric testing denotes a minor lesion of
tested muscle or tendon.

Reason (R) : During eccentric loading of the muscle, the muscle gets
lengthened during contraction.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is truebut (R) is false

4. (A)is false but (R) is true

Options :

92090628729. 1
92090628730. 2
92090628731. 3
92090628732. 4

Question Number : 83 Question Id : 9209067267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

R § HYA QU MU §: U UFYT (Assertion A) F EY T ff@d T @1 IR 3T FROI
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Options :

92090628729. 1
92090628730. 2
92090628731. 3
92090628732. 4

Question Number : 84 Question Id : 9209067268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Stepwise aerobic conditioning program for the patient with coronary artery
disease:

A. Prepare patient and family for continued rehabilitation at home
B. Strength training at 30%—40% of maximum heart rate

C. Initiation of self-care activities

D. Providing an orthostatic challenge to the cardiovascular system
E. Cycling at approximately 12 miles per hour speed

Choose the correct answer from the options given below :

1. C,D,A B,E

2. C,AD,EB

3. CBDAE

4. A,C,D,EB
Options :

92090628733. 1
92090628734. 2
92090628735. 3
92090628736. 4

Question Number : 84 Question Id : 9209067268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) C DARBE
2) CADEB
3) CBDAE

4 ACDEB

Options :

92090628733. 1
92090628734. 2
92090628735. 3
92090628736. 4

Question Number : 85 Question Id : 9209067269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Heating and cooling agents are generally composed of
materials with moderate thermal conductivity to provide safe
and effective heat transfer.

Reason (R) : Rate of heat transfer depends on temperature difference
between the materials.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is truebut (R) is false

4. (A)is false but (R) is true
Options :



92090628737. 1
92090628738. 2
92090628739. 3
92090628740. 4

Question Number : 85 Question Id : 9209067269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628737. 1
92090628738. 2
92090628739. 3
92090628740. 4

Question Number : 86 Question Id : 9209067270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of moving a person to the side, as a consequence of that, person's
refusal to accept, or impossibility of accepting currently recognized rules of
operation is called as

1. normalization
2. marginalization
3. inclusion

4.  discrimination

Options :



92090628741. 1
92090628742. 2
92090628743. 3
92090628744. 4

Question Number : 86 Question Id : 9209067270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ydra- & gaaH # wiHd Bl # WieR 9 $9E $ aRumRasy e afda &) 9 §
& & @ uftha &1 Fed gl

(1) GRS ) wifaEsTE
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Options :

92090628741. 1
92090628742. 2
92090628743. 3
92090628744. 4

Question Number : 87 Question Id : 9209067271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Keeping distal radius and ulna stabilized in wrist joint mobilization, the ulnar
glide is given to increase

1. radial deviation

2 ulnar deviation

3. generalized arthrokinematics movement of wrist joint
4

joint play

Options :

92090628745. 1
92090628746. 2
92090628747. 3
92090628748. 4

Question Number : 87 Question Id : 9209067271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628745. 1
92090628746. 2
92090628747. 3
92090628748. 4

Question Number : 88 Question Id : 9209067272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Pranayama’, in which after doing ‘Kumbhaka’, the breath is exhaled through
the left nostril (path of 'lda Nadi') is called as

—h

Ujjayi Pranayama

2.  Viloma Pranayama

3. Surya Bhedana Pranayama
4

MNadiShodhana Pranayama

Options :

92090628749. 1
92090628750. 2
92090628751. 3
92090628752. 4

Question Number : 88 Question Id : 9209067272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628749. 1
92090628750. 2
92090628751. 3
92090628752. 4

Question Number : 89 Question Id : 9209067273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The elementary component which is not part of informed consent is
1. compassion
2. information
3. competence
4

voluntariness

Options :

92090628753. 1
92090628754. 2
92090628755. 3
92090628756. 4

Question Number : 89 Question Id : 9209067273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag URfYS sfaua it i gfa geafa uw &1 ur =i g -

(1)  Hda ) I
(3) T 4) TWfsFa
Options :

92090628753. 1
92090628754. 2
92090628755. 3
92090628756. 4

Question Number : 90 Question Id : 9209067274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prescription of adaptive equipment is a component of

1. compensatory training approach

2. facilitatory training approach
3. remedial training approach
4. financial assistance

Options :

92090628757. 1
92090628758. 2
92090628759. 3
92090628760. 4

Question Number : 90 Question Id : 9209067274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628757. 1
92090628758. 2
92090628759. 3
92090628760. 4

Question Number : 91 Question Id : 9209067275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Persons suffering from which type of disability are not eligible for reservation of
job?

1. Mental disability
2. Speech and hearing disability
3.  Visual disability
4. Cardiopulmonary disability
Options :
92090628761. 1
92090628762. 2

92090628763. 3
92090628764. 4

Question Number : 91 Question Id : 9209067275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fra ueR 3 fawaiar @ difsa afd da 7 smeor & for drg =t 22

(1) dfds Reama (2) aTH 3R Ygur fae e
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Options :

92090628761. 1
92090628762. 2
92090628763. 3
92090628764. 4

Question Number : 92 Question Id : 9209067276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct order of giving resisted exercises is :
A. Demonstration of pattern of movement
Traction

Application of resisted force

Comfort and stability of the body

mo o

Stabilization of the bone or bones consisting the origin of the muscle
targeted

Choose the correct answer from the options given below :

1. DA EB,C

2 BCDAE

3. GCBADE

4. D,ABEC
Options :

92090628765. 1
92090628766. 2
92090628767. 3
92090628768. 4

Question Number : 92 Question Id : 9209067276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628765. 1
92090628766. 2
92090628767. 3
92090628768. 4

Question Number : 93 Question Id : 9209067277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patients suffering from ‘phobias’ can be best treated by which of the following
management technique :

1. Desensilizalion

2 Guided imagery

3. Cognitive behaviour therapy
4

Relaxation response

Options :

92090628769. 1
92090628770. 2
92090628771. 3
92090628772. 4

Question Number : 93 Question Id : 9209067277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

wifgar & fifga Al &1 gafon Iuar Ay udey= dedies T e e -
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Options :

92090628769. 1
92090628770. 2
92090628771. 3
92090628772. 4

Question Number : 94 Question Id : 9209067278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are the measures of self-perceived health?
Barthel Index
Nottingham Health Profile
Medical outcome study —36 item short form health survey (SF-36)

Functional Independence Measure (FIM)

m o 0o m »

Sickness Impact Profile (SIP)

Choose the correct answer from the options given below :
1. Conly

2. AandD only

3. Donly

4. B, CandE only

Options :

92090628773. 1
92090628774. 2
92090628775. 3
92090628776. 4

Question Number : 94 Question Id : 9209067278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090628773. 1
92090628774. 2
92090628775. 3
92090628776. 4

Question Number : 95 Question Id : 9209067279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All are the types of fibrous joint, except
1. synchondrosis
2. syndesmosis
3. synostosis
4.  symphysis

Options :

92090628777. 1
92090628778. 2
92090628779. 3
92090628780. 4



Question Number : 95 Question Id : 9209067279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628777. 1
92090628778. 2
92090628779. 3
92090628780. 4

Question Number : 96 Question Id : 9209067280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Priming stage’, ‘splitting stage’ and ‘oxidoreduction-phosphorylation stage’ are
three major stages of

1. gluconeogenesis
2. glycolysis
3. glycogenolysis

4. glycogenesis

Options :

92090628781. 1
92090628782. 2
92090628783. 3
92090628784. 4

Question Number : 96 Question Id : 9209067280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628781. 1
92090628782. 2
92090628783. 3
92090628784. 4

Question Number : 97 Question Id : 9209067281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With anterior rotation of the right innominate, the sacrum is most likely to
undergo around an oblique axis.

1. Nutation

2. Torsion

3. Counternutation
4.

Side bending

Options :

92090628785. 1
92090628786. 2
92090628787. 3
92090628788. 4

Question Number : 97 Question Id : 9209067281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628785. 1
92090628786. 2
92090628787. 3
92090628788. 4

Question Number : 98 Question Id : 9209067282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In sports injuries, typically results in the rapid onset of short lived
impairment of neurological function that resolves spontaneously.

1. punch drunk syndrome

2. post traumatic amnesia

3. concussion

4.  subluxation of cervical vertebra

Options :

92090628789. 1
92090628790. 2
92090628791. 3
92090628792. 4

Question Number : 98 Question Id : 9209067282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628789. 1
92090628790. 2
92090628791. 3
92090628792. 4

Question Number : 99 Question Id : 9209067283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Intermittent pneumatic pump is utilized for the treatment of

1.  swelling

2. neuropathic pain
3. burns

4. ulcers

Options :

92090628793. 1
92090628794. 2
92090628795. 3
92090628796. 4

Question Number : 99 Question Id : 9209067283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628793. 1
92090628794. 2
92090628795. 3
92090628796. 4

Question Number : 100 Question Id : 9209067284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An affective response that stems from the comprehension of another person's
emotional state and which is similar to what the other person is feeling is called
as :

1. Empathy

2. Sympathy

3. Personal distress

4. Emotional self-regulation



Options :

92090628797. 1
92090628798. 2
92090628799. 3
92090628800. 4

Question Number : 100 Question Id : 9209067284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628797. 1
92090628798. 2
92090628799. 3
92090628800. 4



